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paper. .
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Instructions : |
i)  There are in all nine questions in
this question paper.
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All questions are compulsory.

inni f each
(he beginning © '
" [T:lcstion, the number of paris
?{) be attempted are clearly
mentioned. |
jv) Marks allotted to the questions
are indicated against them.
v) Start solving from the ﬁ?ﬁ
question and proceed to solve ti
the last one.

vi) Do not waste your time OV
question you cannot solve.
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1. Attempt all parts of the following : |
a) . Suppose that a function f:R—>R €)

is defined by f(x)=3x. Select

correct option :
(i) fis one-one onto
(ii) fis many one onto
(i) f1s one-one but not onto
{iv) fis neither one-one nor onto
1
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1 1+x
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The principal value of
cos™! ( CDS%E J is
on

ORI i) =
T

(iii) % iv) g
The gradient of the normal to the

curve y=2x2 +3sinx atx=01s
1
(@ 3 (i) 3
. : 1
(iii) -3 iv) -3
Order of the differential equation
2 du
24 y—3—£—;—+y=0 is
de dx
@[ 2
(i) 1
(iii) O |
(iv) not defined. 1
Choose the correct answer of the

) /3 dx

definite integral J 5
1 l + X
) L .. 2_11;
U i) 3
(111) 6 (iv) =5
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Srfefag asft @vet T d) If E and F are such type of
. o & ' events that P(E)=0-6, P(F)=0-3
F) ™ &g & ®eW f(x)=5x-3, and P(ENF)=0-2 then find
x=0W 9qd &| 1 P(E/F). | 1
) qusecx{coset:x+cotx)dx?ﬂﬂ'l:f e) Find the value of
T WIS 1 tan“l[1}+cos'l(—%)+sinl‘1£-—12—).
0 -1 35 )
0 adf 3] i |
Agmqﬂﬁm&iﬁml 1 3. T=fafae et @vel =t ga sifaw
o) H%Eﬁtﬂﬁ‘maﬁw%%ﬁ . dx
P(E)= 0@? =03 3N | _Ix?—6x+13?qmm b2
{Eﬂ]OQ:FﬁPE,fF} ' | A A A
EIvﬂl'r?ﬂ'\fl 1 9) ﬂ’”ﬂ%ﬁlﬁ A(Qi—j+k}
) tan'][1}+605'][—%Jmim'](—%) 5{1‘31 5k), C{31—4_; 4k]11?n“
' - HHRT &
T T HI 1 P & 9§ | 2
Attempt all the parts of the following ] MWW R q b ! %r@?{ Eh—{ﬁ Y
a) Check that the function , S X
flx)=5x-3 is continuous at x = 0. ' Yy=e (acosx+bslnx & &
- 1 # FEE $9 awen S T
b)  Find the value of _ T i |
Imsecx[cosecx+cutx]dx. ] 2
_ 43 Tl ' N 5
cy If A= [g 21] and B= [g g] then ) {logxl_msx Sl x H Uy
find the value of AB. 1 e i . 2
) .
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3. Attempt all parts of the following : @)
- ' dx
a)  Find the value of J 5 .2
x“ -6x+13

il

AN
b) Show that the points A(2i - j+k);

8

forg o i quits! & TgeT ZH
R={(a,b): 2, (a-b) 3 &aiaa
el & ) gRT SR e TR qedd
LECE I z

A R : _ 5 4) 3 (k 4)
B(i-3]-5k), C(3i-4j-4k)are M AR (2,-6) alm ( )
vertices of a right angle triangle.” 2 e ﬁl‘ﬂi{ 1 &9 35 gehlg |
) Removing the itrary constants kRl HF Jld ﬂﬂﬁ?i . 2
a and b fi the- differential N - > .
equation rq@gescnting.the family of ¥) AR (a+ b) 3R (a— b) T8 F!Faﬁ:
curve y@[acosx+bsinx]. 2 3; mqﬁﬁ; 1:[1%(51 T aﬁﬁq HEl
d) Differg?tiate the function ;‘= s ‘J‘ + i‘: , 3: ?+2j +3k. o
(log x) "% with respect to x 2 4. Attempt all parts of the following :
f=fetaa @Ugl i & HIT | a) By graphical method solve the
* | o following linear  programming
%) I fafe @ e es s e problem. Find the maximum value
= o of Z=3x+4y, under the following
e ‘ constraints :
Z=3x+4y H AfuHaH HA FM x+y<4
- i sTafh SR e x20
x+y<4 y=20 2
=20 b)  Prove that in the set of integers Z.
X2 . the given relation R={(a.b):-
y=0 divides (a—- b )} is an equivalenct
relation. 2
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¢) If area of a triangle with vertex
(2,-6)(5 4)and ( k, 4) is
35 square units then find the
value of k. 2
d) Find the unit vector perpendlcular
- -
to each of the vectors {a+ b)
' -+ A A M
and . [a~ b]whﬂre a=1i+ j+k,

-3 s

b-:+2;+3k 2

ﬁ%ﬁaaﬁﬁﬁ@@aa@aﬁm

9
ﬂﬁﬂ: c@
%) guiee fE \Q o 184
R —=C08  —.
N RSy 855
@) fag #ife s -
l+a 1 1 1 1 1
1 1+b. 1 |=abc [1+—+3+—] .
1 1 l+c¢ . 4a c

T weH xf & RS 7E AR

) UF 9§ 4 ol AR 4 e T )

TW I A 2 o HR 6 el 8§
A TH O H AGA G SN 8
AR 38} ] Pl S &
o & | TR i HIWC & g8 uee
'ﬁﬁﬁﬁmﬁﬁmﬁ% 5
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%) 39 Guae . TR AR ST gHEmm
3 wi S R (5,2,-4) € ST
AR 2, 3, - 1 Fep-arue ol W W

o ¢ 5
T) 3Ji§ y=3cos(logx)+4sin(log x) € d
. d’y d
ﬁ:@@ﬂ%_x? ‘z+x—y+y=0. 5
dx dx

Attempt any five parts of the following :
a) Show that

i =] 3 . =1 8 -1 84
SiIn —-S8Sln —=C08 —. 5
5] 11

b} Prove that

l+a 1 1 1" 1 1
1 1+b 1 |=abe (1+—+—+~) .
1 1 1l+c e be
_ S
C) Find the minimum value of the
function x*. ' 5

d) In a bag there are 4 red and
4 black balls. In another bag there
are 2 red and 6 black balls. One
bag is _selected at random and one
ball drawn which is red. Find the
probability, that it is drawn from
the first bag. - 5

Y
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Find the vector and Cartesian
cquation of that plane which
passes through the point (5,2,- 4)
and perpendicular to the line
whose  direction  ratios  are

2,3, -1 _ 5
f) If y=3cos(log x)}+4sin(log x) then

d’y . d
show that xz-i —y+y=0. S
d dx

‘ avsi
ﬁmﬁf@aﬁﬁé@ﬁfdﬂ t
I @$ |
%) Wad yl-dax #AN W I

y=2m$ﬁ?ﬁ%&iﬁmm_

ffYad qOweE # WeEdT @ wid

- ST " .5
|) sEee GHETT

(tan”! y—x)dy=(1+y° ) dx I & T

Hifqo 5

M) UE R A, 70% TS § T sewdl
¥ T b B, 60% 9eAIE H T
et &) o e H i % uw g ¥
Tene &7 ! uifashar 7@ HICL 5
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g) i Wgs SO FEE e Sl
"x-y=0
- x+2y=2
x>3, y<4, y=0 F I
Z=2x +3y-1 N FAH HAH e
Fifea | B 5
%) WA 7. (14 ]+ k)=6 3R
7 (27 +3f +4k )-5=0%
s o g (2, 2, 1) 9 o T
FUAA T Gy G G wIE1 5

2 2 . )
q) o XT+%=1 ™ 3T fagat & T

HiT 59 | TR W@ () 3T F

TAR & (ii) y-378 & TR &1 5
Attempt any five parts of the following :
a) Find the area enclosed between

.the parabola y2 =4ax and straight

line y = 2ax, with the help of

definite integral. S
b) Find the solution of the differential

equation(tan”’ y—x)dy=( 1+y°) dx.
5

4877 *hY [ Turn over 4877 * *Y

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

c)

4877

Download all NOTES and PAPERS at StudentSuvidha.com

13 324(FI)

A man A speaks truth in 70%
events. Another man B speaks
truth in 60% events. Find the
probability that in an event both
agree with one other. 5

Solve  the  following  linear
programming problem under. the
following constraints :

Find %I%e minimum value of
Z=2x+3y-1. . 5

Find the vector equation of a plane
passing thmugh the mtersectmn of

the planes r .[1+J+k) 6 and

r.[2i +3j +4k }]—5=0 and point
(2,2, 1). S

Find the points on the curve
2 2

E4——+y—5=1 where the tangents are

(i) parallel to x-axis, (i) parallel to

y-axis. 5
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r=

—>
r=

fusifafiga weecor Frm

2x+y+tz=1

x-2y-3z=1
W3x+2y+4z=53ﬁﬂﬁﬁﬁhq}
&1 HITWT | 8

s, o ok urﬁa;m frAfertram
¥ % g ® FA9e g T S

A M Fa M A
(f+2j+3k]+1[i-3;+22)aﬂ?

(41 +5;+6k)+p{21 +3;+k]

Attempt any one part of the following :

a)

b)

—p
r=

_’.
r

Solve the.
cquations

2x+y+z=1
x—-2y-3z=1
and 3x + 2y + 4z = 5 by matrix
method, _ ' 8

Find the shortest distance between
the lines, whose vector equations
are given by

following system of

P M s A M M
(i +2j + 3k }+A(i -3j + 2k )and

4Lt AN
=(4i +5j+6k)+pu(2i +3j+k). °
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] eofofiad 1 @ Fred) T @US W A BT
%) fag =ifag fa
nf2 nf2

I log(sinx) dx= ! log{cosx]dxm-%]ogz.
0 .

8
@) e IS
(1+e*/¥) dx +e”@~1-—-—} dy=0 i
gg\ Y .
W o 8
NS
8.  Attempt any o %art of the following :
a) Prove '
m/2 nj2

I log(sinx) dx= I log{cnsx‘;dx=—%lug2
0 0 . o -

b}  Solve the differential equation °
(1+e™/¥) dx +e”y{1—£.} dy=0
9, Fﬂrﬁaﬁgarrﬁ"mﬂqmmaﬁmaﬁﬁq
+) [xdxmtﬁmﬁﬂﬁﬁm%mﬁ
[RIEEC I CE oo R pee— q OF T
a-_sﬁ‘?[ﬂl 8]
4877

& i
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® ) | 2“2 dx ® FA ¥
. 2x°+6x+5
Fifea | o 5

ii) Ixzatz, y=2at & &g 't
W AT @1 S SHE T
hifeTy | 3

Attempt any one part of the following :

a) Find the value of j x*dx with the |

a
help of definite integral as the limit -

ofasum. -~ _ 8
b) 1) Find the value of
xX+72 ' e
o2 s
2x“ +6x+5

ii) Find the equation of the
norma] at pomt "t of ,'_thc

curve x= af, y 2at. 3
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